THN2408 A 08H (LHER)

R RENFEHIS (A15) 2B B #H

L5 EFTHRHE: 2133
(I HEREFST)
mn &n i EIFEE = (ke) iR b tExIER 5|
AH BY5E Xt Hfike | 2EAE) | pEEA) [ REA) [ SEE) [ $EFE) | RiEFA)
130100 [ \CA a3 20,075
dtiEE 19,470 10,190 9,280 10 1,296 972 1,512 972
HF 575 75 500 15 1,080
130340 [FIZALA g 15,540
itiEE 13,050 30 13,020 10 2. 160 2,160 1,296
130400 [Z %5 g 1,049
=] 5 0 5 0.25 - - - 108
130600 |[LACA g 1,755
i L 90 0 90 2 1,728 864
] 1,615 0 1,615 /] - - - 2,808 864
131100 |3 a3 17,265
dtiEE 1,800 0 1,800 12 2,700 2,376
R 15,465 9,405 6,060 15 4, 320 918 5,940 1,242
131700 | ¥ Y g 47,820
dtiEE 8,430 4,730 3,700 10 1,836 756 2,376 1,296
BE 24,430 5,200 19,230 10 Z 052 1,080 2,700 1,080
Pt 14,960 6,830 8,130 10 2,700 864 2,916 1,080
131800 [IF5SNAE g 1,160
Ik B 1,008 130 878 3.6 4,104 3. 888 4,104 1,944
£E 108 108 of o2 302 292
me 2 0 2| 008 76
131910 | & g 3,731
N 49 0 49 0.5 702 302
£E 63 8 55| 0.5 302 302 270
i L 415 0 415 1 1,080 324
&Il 2,414 0 2,414 10 3,132 2,430
iR 500 0 500 10 3,132 2,754
131950 [A & g 4,778
EHY 2,388 819 1,569 3 1,944 1,296 1,944 756
hE 210 0 210 3 756 648
133400 [LH# R g 13,090
Etad 13,090 8,040 5,050 10 6. 480 1, 458 7,560 1,296
134100 |#A I 3 16,996
dtiEE 2,635 795 1,840 5 2,484 2,171 2,646 1,404
== 1,015 365 650 5 2,268 2,106 2,592 1,674




THN2408 A 08H (LHER)

R RENFEHIS (A15) 2B B #H

L5 EFTHRHE: 2133
(I HEREFST)
mn &n i EIFEE = (ke) R b tExIER 5|
AH Y5 HExt Hiike) | &EAE) | HEFE) | ®EME) | &EME) [ FEFE) [ RiEFE)
£EE 246 122 124 10 3,024 2,376 3,024 2,376
] 500 70 430 10 3,240 3,024 4,320 3,240
=l 1,865 90 1,775 5 2,160 1,836 2,700 1,080
IR 7,325 1,555 5,770 5 Z, 484 1, 026 2,700 1,026
134200 | = I 3 7,205
=yl 7,000 4,000 3,000 10 3. 564 1,944 3,564 1,188
134300 |HiF 3 9,084
NI 140 0 140 4 2,592 1,404
£EE 756 480 276 5 3,456 2,160 3,456 1,620
=B 190 100 90 5 3,564 2,160 3,564 864
= 3,043 479 2,564 5 3. 564 2.700 3,456 1,296
IR 942 88 854 04 194 173 194 81
134400 [F< g 13,216
dtiEE 1,276 24 1,252 4 1,836 1,728 1,620 972
Ik 11,534 1,128 10,406 [] 1,944 1. 080 1,620 540
£E 20 0 20 4 756 648
iR 256 32 224 4 1,620 1,512 1,512 1,080
134500 |[E—< > g 11,795
£EE 4325 0 4,325| 0.15 - - - 108 59
EIE 1,247 0 1,247  0.15 92 76
134700 |£58ACL a3 1,920
dtiEE 80 0 80 10 2,862
K% 1,490 150 1,340 10 4, 320 3. 629 3,370 2,160
135100 [LNAUIT A % 116
dtiEE 106 0 106 /4 - - - 3,564 2,376
Etad 10 0 10 2 2,592 2,484
135500 [Z - & 1 827
Is; & 360 0 360 0.18 194 81
EE 167 20 147] 0.2 238 238 194
136100 [MAL & g 7,375
BS 6,015 320 5,695 5 Z, 808 1,944 2,376 864
= % 565 0 565 5 2,538 1,512
136200 [E = 3 2,840
dtiEE 2,840 0 2,840 10 - - - 3,132 3,024
136210 [A—9 1> 3 4,650
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PR REFETS (KI5) BEB#HK
#2408 B 088 (LEA)

L5 HFEaHE: 2133 kv
(EEISHERESD)
mf mf EEHh EIFEE = (ke) R HY5E tExIER 5|
AH HY5E Axt Hfike) | SEME) FE(E) ZEM) =B FE(E) ZEM)
dtiEE 1,400 600 800 10 3,888 1,890 3,456 2,376
e 3,250 1,550 1,700 10 3. 024 1, 404 2,754 1,242
136300 | B ¥ “ 905
= % 405 0 405 5 3,240 1,080
i = 500 0 500 10 - - - 1,836
136600 [f=FHRE g 3,270
EE 3,270 2,950 320 20 3. 240
138100 [ELULV=IT % 3,228
£EE 516 35 481 0.1 81 97 81
=) 1,760 68 1692 0.1 119 173 46
138500 |[LOLE i 3,644
R 3,639 353 3286 0.2 81 70 81 70
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THN2408 A 08H (LHER)

R RENFEHIS (A15) 2B B #H

8% EFTHRHE: 32 k
(I HEREFST)
mn mn i EIFEE = (ke) iR b tExIER 5|
AH BY5E HExt Hfike | 2EAE) | pEEA) [ REA) [ SEE) [ $EFE) | RiEFA)
243120 |=EKEL 3 4273
] 895 895 0 10 4,860 1,728
&8 3,095 430 2,665 10 2.916 2. 160 3,456 2,160
243310 | —+1H#e4L g 3,275
B 3,275 1,640 1,635 5 4,536 4,104 4,536 3,780
244200 |FEHE g 9,372
== 2,304 1,310 994 5 4,104 2,700 3,996 2,268
T 1,054 0 1,054 5 3,780 2,160
R 5,761 2,320 3,441 5 4,320 2. 484 4,104 2,376
B 233 0 233 04 378 270
fif] LI 8 8 0 4 19,440
244430 |Eth R o5 > g 314
£ 314 162 151 0.7 432 432
244530 |9 1L g 1,069
e 756 600 156] 0.5 324 194 302
£ 313 125 188 0.5 378 378
244650 | T IL— 3 16
EF 16 16 o 0.4 356 346
245220 | T T SED a3 1,246
R 853 349 504 /] 1,944 1,512 1,944 1,512
T 190 0 190 2 1,620 1,080
KR 203 0 203 03 324 140
245230 |BIESES 3 3,291
T 1,135 0 1,135] 08 1,296 864
Pt 674 622 52] 0.35 594 562
I 648 457 191 0.35 378 324 486 378
il 385 168 217|  0.35 383
&E 122 0 122 03 454
245240 |EFA—1RES 3 753
i LU 633 371 262 /] 5. 184 Z, 160 3,456 2,160
EF| 120 110 10 2 3,564
245370 [R AAYEARY—A g 1,142
EE 700 128 572 2 1,836 1. 296 1,836 1,296
i Ll 34 34 0 2 1,620 1,296
[N 288 126 162 2 2,160 1,350 2,052 1,728




THN2408 A 08H (LHER)

R RENFEHIS (A15) 2B B #H

8% EFTHRHE: 32 kv
(I HEREFST)
mn mn i EIFEE = (ke) R b tExIER 5|
AH Y5 HExt Hiike) | &EAE) | HEFE) | ®EME) | &EME) [ FEFE) [ RiEFE)
=il 120 120 0 2 1,512 1,188
245820 |E 1L VE L % 1,384
EE 1,016 448 568 [] 3. 240 1,944 3,240 1,944
247100 |7—)LR AV g 776
iEdE 204 60 145 85 11,880 5,400 11,880 6,804
50 240 160 80 8 5,562 5,562
=5 247 170 771 8.5 5, 400 2,160 4,320 2,376
248300 |19 L VA g 5,040
R 5,040 1,136 3,904 16 3. 240 2.376 3,240 2,160
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PO T FR YL SR T (ANY) i H
SFN24£08 H 08 H (+HEH)

A HEIbnA ot = 15.5 %
(mAs I X VE B B 5 Te)
4 . E7EH (kg o wY5E RIS
o 4 — — (i 3=X VA - — — y — =

AH H5E FAXIEA | PEHI A AED [ H )| ZemE(™) FEM EAE) | PEE) | 22
101 [ REKI=» 665 136 529 Kg |EE 1,728 648[ )ik 2,160 108
102 |FepHizu 2,040 2,040 Kg g 1,458 324
111 [T ED 870 6 864 Ke [EVES 864 1R JRE LS 1,188 199
113 [RAROL® 34 26 8 Kg |fE 2,592 540 fe 2,700 864
114 |5 EH 262 262 Kg [ 2,376 324
115 [»uz 41 41 Kg frJE 1,404 309
117 [13n 1,417 327 1,090 Kg [JehiE 1,620 = 4,410 216
121 [pbixE 43 43 Kg |fE 810 108
134 |72 3,334 385 2,949 Kg |REE 1,080 432] e 1,512 864
140 [DIT 27 27 Kg frJE 64,800 14,400
147 |[HEZ W 36 20 16 Kg [|EI% 7,128 4,320 %50 12,960 4,860
158  [FwrEAED 410 24 386 Kg [R%» 1,296 324 1,674 1,188
201 [WhL 645 600 45 Kg | KB 200 =3 360 216
203 |/hHL 136 136 Kg & I 367 297
205 [ALHL 72 72 Kg AR 828 720
206 |=iE 750 750  Kg AR 756 108
207 |[SAE 28 28 Kg deviEiE 675 635
208 |[»oB 345 345 Kg FOEk L 1,944 389
209 [T 200 636 636 Kg Al 842 648
210 [IFA v 60 60 Kg [EF 5,400 1,620
212 |#EE.SD 104 104 Kg B 1,728 1,004
222 |[OBT 444 444 Kg NI 252 36
251 [KAESA 345 345 Kg KR 3,240 3,078
252 [WAEESA 232 229 3 Ke |mMF 3,024 2,052 5 2,862
254 [&DIEFESAH 1,184 337 847 Kg  |#hd- B S 1,523 600[rd 7 1,566 572
R D 69 21 48 Kg |E 360 324| FeJEE 504 432
305 |EARn-ok 62 29 33 Keg |&I 2,592 2,484 2,160
319 [&h5 251 251 Kg = 1,404 756
332 [T HA PR 314 314 Kg E[RES 1,404 1,080
351 |A&H 23 5 18 Kg [l 3,780 (=) 10,260 5,184
354 [ITE<H 38 38 Kg T 1,404 756
355 [HED 215 100 115 Kg [HER 900 600[RE 1,080 432
356 |LUA 180 180 Kg BHEL 972 540
357 [FRE 23 8 15 Kg [l 1,350 HEE[E] 1,728 1,296
358 | KHE 15 15 Kg B 1,728 1,188
401 | 155 155 Kg S 1,188 756
402 |O7pX 35 35 Kg A 5,292 4,698




SF24-08 A 08H (+HEH)

F A TR NS T S (AE5) HE H

YR HEIbnA ot = 1.6 %
(mAs I X VE B B 5 Te)

o ek Hh5E ES
;‘ﬁ ;:ﬁ':% ﬁﬂ) iri ( g) _ ﬁm‘%ﬁﬁl : — J - : 4—1: TE&%H -

AH H5E FAXIEA | PEHI A AED [ H )| ZemE(™) PEHH EAE) | PEE) | 22
504 [RIBHAZ DY 27 27 Kg )7 939
512 [ 90 90| Kg B|RES 1,350 600
523 |#usE A 2 Y 535 535 Kg Fi 7 3,915 702
524 |mETeEZ 149 149 Kg 3D 1,620 1,188
554  |XiX WA HUR 90 90 Kg E[RES 800 340
558 |IRfA 90 90 Kg JbrE 950 594
560 [@mE7-Z 28 28 Kg Fi 7 1,820 1,050
566  |WENIT 9 9 Kg B|&ES 5,778 3,996
576 [T 555 555 Kg E[RES 650 580




SF24-08 A 08H (+HEH)

F A TR NS T S (AE5) HE H

L TR E 3.3 [V
(mAs I X VE B B 5 Te)

4 . E7EH (kg o wY5E RIS
o =8 — — A% BELAT - — — ; — e

AH H5E FAXIEA | PEHI A AED [ H )| ZemE(™) FEM EAE) | PEE) | 22
701 |[BYOA 291 187 104 Keg |&ZfE-F 2,945 1,050/ i %0 1,080 1,026
705 [7=3<V 6 6] Kg —® 1,080
751 |FEHEFH N0 233 22 211 Kg |JefiE 819 T 1,003 648
754  [BHSAE 6 6] Kg e 724
755 |BHHL 202 202 Kg [ 828 508
756  |BANET 12 12 Kg Koy 1,044
761 [BOHAE L 29 11 18 Kg |&=E 1,813 1,720|Fnak L 2,484 1,692
768 |[&E7=Z 10 10 Kg FE 7 1,900 1,800
801 [HEkLxir 820 820 Kg E[RES 1,620 756
804 |HiEd 8 8 Kg JbifEE 288
805 [HXiE 1,123 1,123 Kg T 999 216
807 [kt 20 20 Kg 1wz 6,480 2,916
810 [BH K+ 436 436 Kg E[RES 3,000 54
815 [|—~WEAE 75 75 Kg JeviEE 547




